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1. Figures to the right iridicate full marks 4
2. Each section should be written in a separate answer book
3. Be precise and to the point in your answer :
SECTION-I

Describe the GPRS architecture in details, L 4
Answer the following with reference to GSM architecture,

a.  What happens when MS powers up?

b. Describe the steps involved to handle the inco

OR

Explain the cellular architecture in brief. Describe the radio res
cellular architecture.
Suppose in a cellular system total bandwidth avail
25 Khz in each direction per channel for the voi
number of channels allocated per cell if we use c
conclusion on the number of channels/cell

anagement in

33 Mhz and need to allocate
mun§ation. Calculate the
¢ pattern. Write your

Answer the following.
i Differentiate wired & wireles
ii. Explain Error protection in
i Describe the concept of Mobi

List the different ways of increasing Y
0
At time t, a TCP connecti@n has a @ on window of 4000 bytes. The maximum
segment size used by co ion4§81000 bytes. What is the congestion window
nd ives acks for all of them? Suppose there is one

after it sends out 4
a. Ifthe connecti i art?

of a cellular system

ack per packet..

b. Ifthe connection i gestion avoidance phase?
A cellular syste with spectrum allocation of 12.5 MHz in each
direction, g guar edge of the allocated spectrum of 10 kHz and a channel

bandwidth of at is the number of available channels?

Explain the co rd handoff & soft handoff.

Describe Hidden - Xposed terminal problem. Discuss the solution of both the
in brief,

-Suppose afeﬁ\ree stations S1, S2 & S3 wants to send the packet of size 600

& 1300 bytes at time 0, 120 & 250 ps respectively. Assume Slot
SIFS Time of 10ps, RTS Threshold of 1200 bytes, Fragmentation
400 bytes  and RTS, CTS & ACK of 100 bytes. Each station can
Tran 00 bytes per Slot Time. When does data transfer complete?
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To transmit a 1 bit, a station sends its chip sequence. To transmit a 0-bit, it sends the
complement of its chip sequence. Fig-1 shows the binary chip sequences assigned to
four stations. Fig-2 shows them in bipolar notation. Fig-3 shows six examples of one or
more stations transmitting at the same time. Find the chip sequences for all six
examples. Show that receiver is able to recover the station C’s signal.

:00011011 A:(-1—1-1+1+1-1+1+1) I --1-C
UG kg B:(-1-1+1-1+1+1+1-1)
01011000 C:(-1+1-1+1+l+1-]-1)

2
: 3 alBiaaAnig &
(01000010 Di(IH11-1-1141-1) 4 §0]l-A+B+C
Fig-1 : Fig-2 5 odid ] oA B Eeten
- 6

»l 1B+ C

1101A+B+C’+

Fig-3 @

SECTION-II
Discuss the TCP issues in wireless networks.
Discuss & differentiate the TCP Reno & New Reno in details.
OR
Discuss the satellite characteristics that affect the performance of TC
Differentiate the approach of New Reno & TCP vegas. ibe TCP,vegas in details,
Calculate the latency (total delay from first bit sent bit Qzeived) for the
following:
A. Sender and receiver are separated by two 1-Gig i
The packet size is 5000 bits, and each link
10 microseconds. Assume that the switc :
it has received the last bit of the packe queues are empty.
B. Same as (A) with three switches an >
Differentiate proactive & reactive routing app es for MANETS.
How to give priorities in 802,117

Consider the following chain Opology
A---B - C---D---E
A is sending packets to ar le transport protocol. Each link above can
transmit one packet per arc’no queues or other sources of delays at the
nodes (except the transmis ay oficourse).
a. What is the RTT dE?
b. What is the thrfug f a stop-and-ivait protocol at A in the absence of any
losses at,the
c. If A decides to
size it mus 2
window size?

brief.
RIQP messages in AODV.

DSR routing algorithm in brief,
SMA/CA mechanism with an example.
ntiate DSR & AODV. Describe expanding ring search mechanism in

sliding window protocol, what is the optimum window
t is the throughput achieved when using this optimum
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